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goboooooboooobooogon
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2 0JOoOood

2.1 00000 (break, continue, goto)

000000000 00000ObreakO continuellgoto OO OODOOOOOOOOODOOODOODOO
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gboboobobood 0ooboddevereak 00000000000 DOOODODDOOOOODODO
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while (ffE 520 {

X1y, T T T T T
if (RIEIC) break;
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oooobooboboooooboooooboobooboooooobooobob iftoobobobooboooboan
02000000000000

while (RkRESMZOL - ———-
X1, -7
if (i) continue;
jCQ; ~ o continue
33,
Fo~o

O 2:contine0 000000000000 O0O00DOOODOO

Ubdbd gotoDOUODOODODOOOUODOO0OODOOODLDODOODDOODODOUOOOgotoIO
gobooboobooboobifooboobo0oooooooooboooooobooboooooooon
UbOb0O000OgotoOOODOOOOODODOODODODODODOODOOOOOODOOOOOOOOOODODOOD
guobobooboboobbbooobbboboooobbogdbbrreak00ooooooooooon



goooooo

if (HIERD) goto T12; | X1 | | gotoXX |

el

32;

goto 7-~L1; T T T —— -
TV —

3; T=—

0 3:gotoO0ODOOOODOOO
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3.1 UJuoooooboood
gcooooooooooogooooooooooobooooooooDoocogoooboooo

e JO0O0OOOODODOOOOODDODOOODOOOOOOODOOO
e 00000000 OODODOOOODODOOODODOODODOOODOO

obooooooooooob2bob0bbbobobobobobbOo0obobobOboobobDboooboobo oo
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obobOooooooboooooobobooooboOb 40000000000000000O0D000 30
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#include <stdio.h>

EYEOE HO® &FD; 0K =
RUYMBEDE 4L hogehoge (BIHNE! &EID ‘ Jara(TE= ‘
vy

RYEDEEZ fugafuga(5IEHDE &HD;

A

F8% hegehoge

|‘
-«

BE# fugafuga |

/

-l

int main(void)

{
X
a = hogehoge (RBIH); < | EROHUHL |
}
A
RYMEDE!% hogehoge (BIENDE! {R5151%8){ ”
I
X
>, oo e
b=fugafuga(E5|1#); «— EEIZ?H:)LH @
return = ;
¥ \
A
RUEDES fugafuga(BIHDE R51%14){ W
I
X S
o
return = ; &k
b v
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y=1f(x);

000000 x0000000000 —22+102+8+10sin*>200000000000000 yOOO

gbooobo:0000 x00000
A TIIEREL THEARRE

E bid]
F;g’fa)i\ VB, PO LT QRSO E A —
E")ﬁﬁ@@_\

M IO oD IELEY
| double |f|(doublel )

double y; BEOEH

-BEBIRYIRDAHTER

%518

y = -x*x + 10*x + 8 + 10*sin(x)*sin(x);

RYE
return

l\ﬁsﬁ%ﬂw“uvbmb‘bu

Os5: 0000 f(a:)z—a:2+10x+8—|—1()sin2xﬂDDDD cOooopDboOoOoooOoooDOoO0g ps
gobob 10b0b0040o
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oooboobooooooDoooDo00ob0000 -000D0O0OD0 —-0D0O0O0ODODOOOO0OOOOO
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#include <stdio.h>

void test(void); // A k44 TEE
int hoge - | TESEHR
1/
/1 A A UEAE [}
//
int main(void){
int i; *—— — Iy
int fuga=222; <[ O-ALEH |
printf("fuga at main = %d\n", fuga);
printf ("hoge at main = %d\n", hoge);
5 8
test(); & &8
JOvINEEOER S8 ME| 8
for(i=1; i<3; i++){ /| 77Y7PES R TR
int bar=444; 4 — e K6 Ir
printf("bar at for loop = %d\n", bar); /E S é[ g S
— =]
) vy »8 = o
8 -
n
return 0;; ey
} «
Yy -
<
/! = . |
// test A—Y—FEHMEH I
void test(void){ - RN
int f00=333; < RiT
I Ts
printf("foo at test = %d\n", foo); oo
printf("foo at test = %d\n", hoge); e
A
}
Y

060000000 (DOOoO)

lifoooooooooon
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000 (1)autoO (2)extern (3)registerd (4)static0 0000000000 DO0OOOOO

auto int hogehoge;
extern int fugafuga;

register int foo;
static int bar;

oood

00000040000000000 staticO0000000%20000000000000000000
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3.5 0O0O0O0O
3.5.1 OOOOO0OO0OO0OOOOOOO

0o
f(x) = —2? + 10z + 8 + 10sin’ z —10<2£10 (1)
0000000000000000000001002000000000000000000

gob 1. 0booogooooboooogoood

#include <stdio.h>
#include <math.h>

double f(double x); //00000000

int main(void){
double x, dx, xmin, xmax, y;
double max_.y, max_x;
int i, ncal;

//--- 0o0O0Go0o0gd ---
Xmax 10;

xmin —10;

dx = 0.0001;

ncal (xmax—xmin) /dx;

ol

//--- 00000 ---
max_-X = xmin;
max.y = f(xmin);

//--- 0O0o0oogg ---
for (i=1; i<=ncal; i++){
x = xmin 4+ ixdx;
y = f(x);
if (max.y <= y){ //00000000000
max_X = X;
max.y = y;
}
}

printf("%f0 0000 0%f0 000 \n”,max.x, max.y);

return 0;

double f(double x){
double y;

y = —x*X + 10xx + 8 4+ 10xsin(x)*sin(x); // 00000

return y;
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3.5.2 000000

gob 20000000

a+b+c
Ty 2)
S =/s(s—a)(s —b)(s — ) (3)

oooObDOooOoO0O0O0 sgo0ooboooooooOoooooooD120100000D0O0O0O0O0O0OO
oono
ubooboobooobobobooboobooboOoooboboobobooo=-9eUubobbooboobon
ooboobobOooooooboooooooboboooooOobooboboobooobooooboooooooaon
oobooooooooboobooo-99boooobooboooobooboooobooooooobon
0000000000000 00000000000D (==s)00000000

000 2z2000000000000C0O0000

#include <stdio.h>
#include <math.h>

double helon(double a, double b, double c¢); //00000000

//===========================================================
// 00000
//=========s=ssssssssSssssSSSSSSSSSSSSSSSSSSSsSSSSSSsssssssss
int main(void)

{

double henl, hen2, hen3;
double menseki;

printf (7010 O O7?\t”);
scanf ("%1f” ,&henl);
printf(?020 O O7?7\t”);
scanf ("%1f” ,&hen2);
printf (7030 O O7?\t”);
scanf (?%1f” ,&hen3);

menseki = helon (henl, hen2, hen3);

if (menseki < —990){

printf (*00000000000000000 1111\ n”)
telse{
printf (?0000%f0 0 O \n”, menseki);
}
return 0;
}
//===========================================================
// 00000000
//=============================================s=s=============

double helon(double a, double b, double c¢)
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double s, S, test;

s=(atb+c)/2;
test=sx*(s—a)x(s—b)x(s—c);

printf (?%f\t%f\t%f\n” ,a,b,c);
if (test <= 0){

S = —999.0;
telse{

S = sqrt(test);

}

return S;

3.5.3 OO0O0OOO

gboogobooboboob 20b0bobobooooooooooobooooboboobooooobon
uoboooooboboooooooog

o HU0OUOOODLODLDOOLOOODLODLOOODLOON
e 00O DODODDODOODOOODOODOOODLODOOOOOODODDODODDODODDO
oooobooooobooooooon

00000000000000000000000030

ubd s:0boob0ooooboobobobooooon

#include <stdio.h>
#include <math.h>

void info_tri(double a, double b, double c); // 000000 O0aOo
double S, total_len; // 0000000
//================s=s=====s===s==S=============S=sS=sS=Ss=ss=sss==s=s==

// 00000
//======s=========s=s========sS=======s===SS===S=sS=sS=sSssSs=ssss=s==

int main(void)

{

double henl, hen2, hen3;
double menseki;

printf (?010 O O7?\t”);
scanf ("%1f” ,&henl);
printf (7020 O O7?\t”);
scanf ("%1f” ,&hen2);
printf(?030 0 O7\t”);
scanf ("%1f” ,&hen3);

info_tri(henl, hen2, hen3);

if (S < —990){

S0000000000000000D0000000000000000000
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telse{
printf (?0000%f0 O O \n”,
printf (?0000%f0 0O O \n”,

S);
total_len);

}

return 0;

void info_tri(double a, double b, double c¢)

double s, test;
s=(atb+c)/2;
test=sx(s—a)*(s—b)*x(s—c);
if (test <=0){
S = —999.0;
telse{
S = sqrt(test);
total_len = a+b+c;
}

3.5.4 voidOOOOOOO
gbooboboboobooboboobodveid00dnononOO

000 4 voidOOOODOOO

#include <stdio.h>

void write_file (void); // 00000000

int main(void){

write_file ();

}
//============================================================================
// voidO O OO
//============================================================================
void write_file (void){

FILE xfuga;

fuga = fopen(” hello.txt”, "w”); // 000000000

fprintf (fuga, ”Hello World !!!\n”); // 0000000 ooao

fclose (fuga); // 000000000

}

11
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3.5, O0O0OO0OO0OOOOOOO
gbooobobooobbobboboboboobooboooooooobbobbobboabn

e FILE *out; J0ddooouobouobobbUoUU0O=owtdooogoboooboboo
O0outO fugafuga 00 0000000000000 O0OO0OOOODOOOO (x)000O0ODOOO

e out=fopen(”data.txt”,”w”); 0000000000000 0data.txt00000000wO
000000000000 000D000OO0D0O0000DoO00DO0O0o0DO0O0nDOfopenO OO0
dooodoooboobobboooobouooooood

o fprintf(out, ?%A\t%f\n”, x,y); O00000000000000000000000 fprintf()
0000000000000 00 printf() 00000000000000000000000000
0000000000000 0000000

e fclose(out); gboboboobgoboobobobobobobbouoououbobooon

000 5. 00000 cO0y0OO0O0OO0O0OOO0OO0OO000O0OOO0O0OOOO0

#include <stdio.h>

double hogehoge (double x); // 00000000

int main(void){

FILE sxout; // 00 0O0DOoDOoOoooa0o
int i, np;

double x, dx, xmax, xmin;

printf(?x0 000 \t”); // 0000000
scanf ("%l{” , &xmin);

printf (?x00 00 \t”);

scanf ("%lf” , &xmax);

printf (?0000000\t”);

scanf ("%d” , &np);

dx = (xmax — xmin)/np; //0000000
out=fopen (”data.txt” ,”w”); (/000000000

for (i=0; i<=np; i++){
X = xmin + ixdx;

fprintf(out, "%f\t%f\n”, x, hogehoge(x)); //00000000

fclose (out); //000000000

return 0;
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double hogehoge (double x){
double y;

y=(3xx+2)/(x+2);

return y;

}
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